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4 3 8 5 = 4
3 8 2 5 = 14
6 2 2 8 = 18
I 3 4 =

5 8 = 13
8 5 7 2 = 4
3 3 | 6 = 17
5 7 | 6 = 19
3 4 3 3 =

3 2 3 2 = 2
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4 3 8 5 = 4
3 g8 — 2 5 = |4
6 + 2 + 2 8 = 18
o+ 3 4 =

5 8 = 13
8 5 — 7 2 = 4
3 3 |+ 6 = 7
5 7 | 6 = 19
3 + 4 3 3 =

3 2 3 - 2 = 2
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4 - 3 + 8 - 5 = 4
3 + 8 — 2 + 5 = 14
6 + 2 + 2 + 8 =18
I+ 1+ 3 - 4 = |
5 — | + 8 + | =13
8 + 5 — 7 — 2 = 4
3 - 3 + 1 + 6 =17
5 + 7 + 1 + 6 = 19
3 + 4 — 3 — 3 = |
3 - 2 + 3 - 2 =2

ZOTI> NE. DA EBY A [https://printchan.com] KDERITHY D> O— RTEEY
0020-0111-0009



